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« RD3DOEH=F->T, [[KBEESEFRAA
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= takasa  FENVINST—5
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#include <stdio.h>

#pragma warning(disable:4996)
Int main()

{

double teihen,takasa,menseki;
printf("teihen=");
scanf("%lf", &teihen); [&] (IXEUIZRLX

printf("takasa="); DHUS
scanf("%lf", &takasa);

menseki = tethen * takasa * 0.5;

orintf("ado
orintf("ado

orintf("ado
return O;

orintf("menseki = %f¥n", menseki);

ress(teihen) = %p¥n", &teihen);
ress(takasa) = %p¥n", &takasa );
ress(menseki) = %p¥n", &menseki );
™~
[%p] (FAEUIZRLX
DFET 3




ZIOAETY )7 KL AER

EiTHasRdB
tethen=3 -
=/ A=
takasa=4 XU KL X
menseki = 6.000000 /

address(tethen) = 0065FDFO
address(takasa) =/ 0065FDES
address(menseki) = 0065FDEOQO




AEUT RLZ X

L P o A -:1-?’_.1.{'

X+l
menseki ~16.000000 0065FDEO
takasa - 14.000000 0065FDES
teihen - 13.000000 0065FDFO

2N XTI KL A
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printf("address(teihen) = %p¥n", &teihen );

—— —
AEUFZ LU AAEUIZ7RLA
DR~ DEUS

« BN ATV FLADEYS

& AEUV RLRZHIS T DTHDERT
Z8a (I2E) OICHITSD

o X7

=07 LU ADRIRDIZHDEI

%p: XU RLAZFzRBXKEVDIER
printf /X ET{HEHE

11



X.
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« JRD2 DOEHEME>T, NTKNL (1.9,2.8, 3.7)

&, NN (4.6,5.5, 64) @WF’&?@%J 7
jA/d’Eé

NI R (1.9,2.8,3.7) u BRI 3 DOZENED
iyl

NI KL (4.6,5.5,6.4) v BEZRE 3 DZENVINED
iyl

« CINBEHIDERICDVLT, AEUV FLADTERR
HB1TD

12



#include <stdio.h>

#pragma warning(disable:4996)

|{nt main()
double u[]={1.9, 2.8, 3.7};
double v[|={4.6, 5.5, 6.4};
Int i

ICIOE%e ip: [&] (FATEUIZRL X
fgr (1I=0; I<3; I++) { DHUS

ip = ip + U[il*VIil; /
i)rmtf( 'NIE=%¥n", ip);
printf("address(u

[0])
printf("address(u[1]) ;
printf("address(u'_Z'; = %p¥n", &u|2|);
O .
1))
2]) =

printf("address(v|O]
printf("address(v[1] :
printf("address(v[2]) = %p¥n", &v[2]);

return O;
} WJ IAEUT RLX

DR~ 13
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aC
aC
aC
aC
aC

aC

C
C
C
C
C
C

R &E=47.820000

/

ress(u0]) =
ress(u[1]) 3
ress(ul2]) 3
ress(v[0]) 3
ress(v[1]) -
ress(v[2]) =

- 0065
- 0065
- 0065
- 0065
- 0065
- 0065

-DEO
-DES
-DFO
-DC8
-DDO0

-DD3
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U RLZ ¥

i e v el

AXED
v[O] 4.6 0065FDCS8
v[1] 5.5 0065FDDO
v[2] 6.4 0065FDDS8
u[O] 1.9 0065FDEQ
ufl’ 2.8 0065FDES
uf2’ 3.7 0065FDFO0
AU KRL X
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el EXEU R XA {

XEUZ KL X
@Eﬁq u @Eﬁq V
(A XE3 [T X(E3) vio] - 26 1 | oossrocs
v[l]—++| 5.5 | | 0065FDDO
0 0 =N
V2] | 6.4 0065FDDS8
1 1¢ ) u[0]—| 1.9 | |0065FDEO
| u[l]—+| 2.8 | |0065FDES
2 2 ul2]—+| 3.7 0065FDFO
wE BT
AEUADRE
2 DB (B2 DMMNEZEDFEET

AEUICAB) 4



BIB3. 2RTEHIDAEIFTRLR ==

« IRD 2 DDECHNZEDT, 21735 D750 =
KDBDXDRTOVS LZED.
a 21135 D17Y BE
b 21735 D175 BE

 Bodl a DERICDWNT, AEUT FLADERTRE
175
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#include <stdio.h>
#pragma warning(disable:4996)
Int main()

1

n ?[Zﬂ oz

forf(l 0 |<2 !3++){){ [&] (FXAA
or 1< ++ yi=
i f(%a, ", al+bp; PN
\ printf("¥n"); /
printf("address(a]0][0]) = %p¥n", &a[0][0]);
printf("address(a[0][(1]) = %p¥n", &a|0|[1]);
printf("address(a]0][2]) = %p¥n", &a|0|(2]);
printf("address(a[1]|(0]) = %p¥n", &a[1||0]);
printf("address(al1|[1]) = %p¥n", &a[1|[1]);
printf("address(a|1]|2]) = %p¥n", &a[l][2]);
return O; AN -
[%p ] (EIXE
DETN

3}1,14,5
71,16,

aif




2 RTEHIDATFEY T RL X
RITHEER D
KRB =1
10, 10, 10, TXEJ7IRL Z
10, 10, 10, /

address(a[0][0]) = 0065FDEO
address(aJ0][1]) = 0065FDE4
address(aJ0]{2]) = 0065FDES
address(a[1][0]) = 0065FDEC
address(a[1][1]) = 0065FDFO
address(a[1][2]) = 0065FDF4

19



Q O 0 OV Y

DT RLZ ¥

i e v el

XED
0][0] 1 0065FDEQ
0][1] 2 0065FDE4
0][2] 3 0065FDES
1][0] 4 0065FDEC
1][1 5 0065FDFO0
1][2; 6 0065FDF4

AEUI7RLA
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2 RES EATEY 7 LR {

e g
2 RTAES 2 XEIELA
al0][0] a[0][1] a[0][2] al0][0] | 1 0065FDEQ
/ a[0][1] —~| 2 | |0065FDE4

7 al0l[2] | 3| |o065FDES

L — 1 ) a[1][0] {+| 4 | |0065FDEC

y all][1] —+ 5 0065FDFO0

all][2] 6 0065FDF4

a[1][0] a[1][1] a[1][2]
AEUADRE

(a[0][0] = a[0][1] = a[0][2] >
a[1][0] = a[1][1] - a[1][2]
DIETAD) 21
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bar graph BEZz{ES. REEF(C, bar _graph
& IO I mainBaEE/ED

« BEDOALS RUBEHIDY A X %Zbar_graphBEERTE
9_&
* bar_graphBZImE DIE(E/RLY (void & T D)
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#lnclude <stdiQ.n>
ma warnln (disable:4996) {
v0|d ar( int len )g

i e v el

%Btr liz0: iclen: i+4) {  [EEODEBIDIEEERD
(= XEUFTRLZ] #BIFEWST,
printf("¥n"); Acol x ELUTHEDS.

return

%/md bar_graph( int len]int x[] )

Nt i;

;Orb(gr( X[i]) N
return; ACHDFEEERD AT 77 RL X (&

l}nt main() I CICZITEDTZDT, x[iiDKDIC

{ int a[7]= {6 4.7.1.5.3 Q}EL\T@EEJO)E;:%%‘:Ezﬁ
bar_graph( 7, a

}mwmo BiR5l) a DICEAEIRD
AEU7RL R (&a[0] DEBEHZ)
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BREZNIF O LD
main BE%X

int main()

EEIFOE U

bar graph EI%X

bar_graph(7,a); Es&/oid bar_graph(int len, int x[] )

N

bar( x[i] );

\ED
return;

FEFULR U

iy
AN

i hedre v gl

bar B8ZX

ﬂoid bar( int len )

\\

RO

return; .
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fe%l a DEEEZRDOATEI 7 RLX
( &a[0] DEIZHZ)

» B
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RLR) CEBEEELTHL

[ Z2EDHECT DFEEEZRD
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« BB, BEEACICERD "



BB & R >4 X

e ten et

A DICERE R

A A 1 A A/

LD

al0] a[1l] a[2] a[3] a[4] al5] al6]

s JOUSLARCENGZEM (FIX(E [al ) TE
<<‘: BEHDAEEERD AT 7 RL X EVWDERK
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R TTEEHI D= FE L &

#include <stdio.h> Dbt

#pragma warning(disahle:4996)
void print_matrix1 Int *x,lintn, int m) {

o \\\F%@?—9®X%U7Fbxj
for(i:O;i<n; i++){ %PRA(/THRDT, tht'fﬁa
for(j=0;j<m; j++){

printf( "%d, ",|X[I*m+]] );

}
printf( "¥n" ); \

}

return; 2 RycticHl x DifTj 5
}
int main()
{

int a[2][2] = {1.2}.{3,4}};

print_matrix( a,|2, 2 );

O BB ) DEBRBROAEUTRLZ 30




B OH LDt ﬁ"

main %X

int main()

FEMFULE U

print matrix BEEX

print_matrix( a, 2, 2 );

Cs&id print_matrix( int *x, int n, int m);

\ED
return;

31
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2 Rohel &N

print_matrix( a, 2 );

0O

J

2 RcHEeHIDGLEEEZR (DFE D a[0][0])
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X[I*n+]] DEBR -

L P o A ,,i’__.l.,f

2 RIohE% a BeHl D& AT a T BEBIDSEEAT KLY,
' ERATBIBEDESS Ao AT [
a[0][0] a[0][1] (main BZIA) ADTLBiE @Egﬁ
a[0][0] — 1 x[0*2+0];
— alo][1] | 2 | |x0*2+1];
, a[1][0] | 3 X[1*2+0];
; ; all][1] 4 x[1*¥2+1];
a[1][0] a[1][1]
2 RrchcH! SXE
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SBFE 2 . 2 DOOITHIDF]

e 2 DDITHIDHNZKEDDEE add_matrix 2z
VERRL LI ELY. [EIIFIC, add matrix Bz
£ main BAE=/ERL, IEUSEEFIT D
EEhEER I D L.

add_matrixBZN I =NDD(FRDIEB D
1. AZERHBINRE 2 DDITE
2. 1THODME, FEEDKRES =
3. ROITHNZIZHN T RE1T5
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&, barB8EE O 9 mainBaZE/ED
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#include <stdio.h>
#pra mc:l warning(disable:;
void [ int len ?

{ inti; SIS

for (i= |<Ien |++
p(rlntf( A

printf("¥n"
printf("address len) = %p¥n", &len);
printf(’ 1) = %p¥n", &I);
return;

}
Int main()

int len; SIS

rlnt “len=");

scan ( "%d", &len);

bar( len )

printf(’ address(len)—%p¥n &len);
return O;

(%0 <5 —5)

‘address

36
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X

SR EARBIBOREI T RLZ

K1TiEERODHB!

len=10 NE
N T e LS /
address(len) = 0065FDA4
address(1) = 0065FD98

address(len) = 0065FDF4

11
—
N
/I
\
PN
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B OH LDt

main BEX

int main()
BEEIFOH U bar B2
bar( len); C% void bar(int len)

\ =D
return O;
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A=JUr7RkL Lz )
A€
i 0 0065FD98
len 10 0065FDA4
bar EEZX C{ED BT
len 10 0065FDF4
main %%&T1§5EB§T _
>(_

=SD I NI P4
39



BEEIFO U (CH D A EUERIRR
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main B2 \
BASITUE L bar X e
% ﬁ > gé'],_.l_d)
bar(len ); | =h mAl
<
return O; ) 10
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#include <stdio.h>
#pragma warning(disable:4996)
void int_count(int *count_ptr) NGIESY

{

*count_ptr = *count_ptr + 1;
return;

)

int main()

{

int count =0; | [AFIZZEN

while ( count < 10 ) {
int_count(&count);

}

printf( "count=%d¥n", count );

return O;

i hedre v gl
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B OH LDt ﬁ"

main EEZX
int main()
FEEZFOH U "
( ) bar EZX
int_count( &count ); Es&/oidint count( int *count_ptr)

N

\ED

return;
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BEEIAN\DNA L ¥

int_count(&count)

count NDNA >4~

Z# count
IEN U]

« B8%% int_ count OFCNH U T, &count (Z%K
count NN >4) =T
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A (CO— P L oz B

int_count(int *count_ptr)

count NDNA >4~

Z N count

hERTE—ang Aaidey

S N { th count_ptr

IS

o U

-------------------------------------------------------------------------------------------------

count_ptr &L\ DEAHID!
ONEIRA 2 FZEEL
(B DT TDHEA)

« BERTE ENTZ &count (&, R > FZEL count_ptr
([CAZINSE=ND
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INA D AZEC K DT —F18F {

*count_ptr = *count_ptr +1;

Z N count

-------------------------------------------------------------------------------------------------

gﬂﬁg count_ptr

BMHOPNSRBE,

O U

*count_ptr (XN

- count_ptr M8 U CTLIDZEEX count DIEN 11X D
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count_ptr

int_count & CT{ED

count
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age 18
rate 110775
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o iFredeei
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rate_ptr
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22 ENDEHI
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« ZEZDHEIC *x ZfITD
1)  int *age_ ptr
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INA 2 IZEE = [REER
JO20 S /F : age ptr = &age;

age ptr

o

Z &N age 18

« INA > AZEE age ptr (T, Z# age NDRA
FETY hFD
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2= x A 2 HFEE

JO0 S/ : x* age ptr;

X 8

—

%iNJ$§ age_ptr ﬁ

age 18

1
i
.
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g
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s B (C, MNA 2RI age MEL TLDE
HDEZTY hT B e



kN 2 AEE = [E]

o iFredeei

0O

J

S5 Fl% age ptr=22;

\\V/\//i

—

2t

age ptr

o

age 2 2

lBEH
Tty h&nd

« IR > AZEE age ptr HME L TULVDEH age
C, 1E [2 2] 7217w b9 B
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INA D E=TRA 2 FEE
JO70 S/ 1 x ptr=age ptr;

—

age ptr

X_ ptr {/N\g asE 13

o TN > AZE x_ptr (C, age ptr KR UM
%Y D
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N > A& ED T O S LB
#include <stdio.h>
#pragma warning(disable:4996)
int main()
{
int age;
int *age_ptr;

age_ptr = &age; QLR
*age ptr =22; * & fEH
printf( "age = %d¥n", age );
return O;

}
- age_ptr (F age ZIE L CL\DH5,
age (X [2 2] (CEDSD
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A > A%RES T2 TODS LB Lo

#tinclude <stdio.h>
#pragma warning(disable:4996)
int main() {

int age;

int *age ptr;

int *second_ptr;

hal

age ptr = &age; } R 7z {E R

second ptr = age_ptr;
*second_ptr = 22; } * Z R
printf( "age = %d¥n", age );

return O;

« N DHDRA AZEHN, BULBEDEEL
TCTULNTEMNFE DL 58




scanf ([C & Z{T1TBIE

e scanf Cl&, BHUC & Z[FFTBZEICIEDT

L\TZ

—_— Y —

=30 & ;l,&'u_c'b‘ =4
e scanf &, T—AZFHHFAALTES, [XEU)

KL A 7&1ED_C, u}baj'l_/\.ljr_j_ % AXTE

J(CiEL

N

teihen |- scanf("%If",&teihen);
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o XAFw /2D push B&ZX, pop EEKEOHFEZE
RIDENZEIERR LIRSV, BIFIC, N5
FEZNZ{ED main BAEE/ERR L, 1IEU <ENME
IR CETMERIT DL, HU, NGEE(Z
EY SN Vilte
e main BT, BLSIRUVRIY ONRA 2 HFDE
SZ{TD2&
» push B8%%, pop BEATILX, XY INRASD
ERZIEL<ITDCE ORA 2 AEEZFERTD
Z &)
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ptr++ DEMKR

Int ary[/];

Int*ptr oA S L ptr (C, BEB

ptr = &a[0]; }ary NDINA 2Ptz wW

_ptr 2 1 DE)HNNVT,

—_ ; (a DIRDESR al1] 2159
1 ptr = 1 DEINT,

ptr++; ° (a DIRDEZRR a[2]) Z1E9)

printf ( “%d”, *ptr );



2 IRTTECHITTD ptr++ DER

iInt a[1000][1000];
Int *ptr;

o iFredeei

ary \AD7|

plr++;

IR S it

(@A@%i
printf ( %dr *ptr ); / |

}*%@DT\E%WDH?

. ptrx 1 DEIHVT,
99

o

99

1

2

A A ETY S
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B ERA S {
JO20 5/ : charstring[6] = “March”;
char *ptr = &string[0];

XZH string A\D %
RAINEY han3 A A A A A
string | M Ua Ur Uc Uh Uéo

XFH|DFEIOD
XIS

INA 2 AEE ptr (C, XFF string ANDRA > %%
7w 9B (char* ptr = string; EEUL\THLLY)
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e typedef ZfE>TC, FTUWEBIDZRIZEZX DK
o AT

typedef {

struct date { typedef struct {
int year; int year;
int month; int month;
int day int day

7 {—> |}date;

struct date a; 5] U, &k | date a;

a.year = 2002; a.year = 2002;

a.month = 10; a.month = 10;

a.day = 20; a.day = 20;




